
Securing cargo. We invented the concept.

80
09

55
 E

  

Friktionsfäste A-serien
Friction attachment/Friktionsbefestigung

Art.nr 800955



BezeichnungDescriptionBenämningPcsPart.noPos.
GrundplatteMounting plateMontageplatta18009531
GleitplatteSliding padGlidplatta18103302
DistanzhalterShimShims18006163
AusgleichpilzPlastic plungePlastplunch28006034
SpiralfederSpringFjäder28006045
KlemmbügelLower clampUnderbygel friktion18006026
SchraubeScrewSKRUV M6S M20x110 FZB22111637
ScheibeWasherBricka BRB M20 FZB22119028
WerriegelungsansatzLock fittingsLåsklack vänster18103329
WerriegelungsansatzLock fittingsLåsklack höger181033110
SchraubeScrewSKRUV M6S M12x50 FZB221161711
SicherungsmutterLock nutLåsmutter LM6M Hög M20 FZB221186112
ScheibeWasherBricka BRB M12 FZB221190713
SicherungsmutterLock nutLåsmutter LM6M låg M12 FZB221185714
StiftPinStift180094815
Stecker abdeckenCover plugTäckpropp180094916

Securing cargo. We invented the concept.

80
09

55
 E

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

Friction attachment Page 2 

ExTe förbehåller sig rätten att göra ändringar i specifikationer och 
annan information i detta dokument utan förhandsinformation.
 
ExTe reserves the right to make changes in specifications and other 
information contained in this document without prior notice.
 
ExTe behält sich das Recht vor, Änderungen an Spezifikationen und anderen 
Informationen in diesem Dokument ohne vorherige Ankündigung vorzunehmen.

Number of Shim. Pos. 3

Sliding Pad
(mm)

Frame
thickness

(mm)

Number of
shim (3mm)

Net.
distance A

(mm)

20 15 3 4

20 12 2 4

20 10 1 3

20 8 1 5

15 15 1 3

15 12 0 3

15 10 0 5

(A
) 3

-5
 m

m

15

15

25

75

250

19
0

27
3

39

1

2

11

3

4

5

6

7

10

9
8

12 13

1415 16

For 15mm sliding plate and 15mm flange.

Use 1 pcs of shim plates. 800616.

The measure in the leaflet is for that combination.

For mounting description
See document AD00048

Vikt / Weight / Gewicht: 8.7 kg

120 Nm

380 Nm

Note! Theoretical values, depending on the color 

thickness and flatness of the frame flange, an extra 

shim may be needed. The measurement (A) must 

always be 3-5mm when mounting the attachment.


